PROFESSIONAL EXAMINATION BOARD
§  Bsfbearan] Group-4, Asstt. Grade -3 Stenographer , Stenotypist,
Pb@xqminqtion Data Entry Operator Combined Recruitment Test -
6 board 2018

28th July 2018 02:00PM

Topic:- General Knowledge

1) As per Census 2011, what is the literacy rate in Madhya Pradesh? /
SRTUET 2011 & SRR, AV W HIGRET G T 32

1. 63.74%

2.71.13%

3.57.56%

4. 69.32%

Correct Answer :-

e 69.32%

2) Who among the following has been appointed as Chairman of 15" Finance Commission of India on November 2017? /

Prafiea & & fed Taar 2017 Y HRA & 157 e SaRT & Sremet F & & Frgaa fpar mar am
1. Bishwadip Dey / faydlu g

2. N.K. Singh / T1.%.Rig

3. Alok Kumar Verma / 3Telld GHHR T

4. Vikas Swarup / fa&m @&q

Correct Answer :-

« NK. Singh/T1.5.Rig

3) Who won the 82" Senior National Championship Title of Badminton in women’s single category on November 2017? /
TER 2017 B wiansi B e Joit § Jsfien & 827 alvg iy g f&are w1 few shar
1. Ashwini Ponnappa/ STyt g

2. Saina Nehwal / T3 HgdTd
3. Jwala Gutta / SdIcIT I[ST
4. P.V. Sindhu / 0.t Ry

Correct Answer :-

« Saina Nehwal / 18T Agardt

4) Who is the Speaker of Madhya Pradesh Vidhan Sabha? /
Heayue s faeum 94T & gurufa @ o) Fi9 82
1. Sitasharan Sharma / TR THf



2. Brijmohan Mishra / W_EFT forem
3. Ishwardas Rohani /ém 3 glu
4. Sriniwas Tiwari / F=arg faart

Correct Answer :-

« Sitasharan Sharma / JaTER= A

5) Who is the only batsman to score 3 double-hundreds in One Day International cricket? /

Tpeawy SaRTEHa fbdre A 3 QgR-<1a® S aTen THAT fEeTS S 82
1. Virender Sehwag / IR FgarT

2. A.B. DeVilliers / T, fSfaferas

3. Rohit Sharma / @I’%ﬂ QTJ:I'T

4. Chris Gayle / T 71

Correct Answer :-

« Rohit Sharma /3 %(_‘I el

6) Tansen, the Father of Hindustani music, belongs from which of the following places of Madhya Pradesh? /
gt Tt & oo TR e & Pl § @ #9 @ wE | T69fia @2

1. Balaghat / dTdTUTC

2. Sawan / HId

3. Behat/ é%‘c’

4, Depalpur / m

Correct Answer :-

« Behat/ 98¢

7) Osho Rajneesh was born in which of the following districts of Madhya Pradesh? /

SR ISR BT o1 A W= & FFafafaa 3 @ <19 9 e o gam ur?
1. Narsingpur / W

2. Ratlam / XdTH
3. Tikamgarh / ‘cﬁm
4, Mandla / H&d

Correct Answer :-

« Narsingpur / HTRI%ER

8) When is the term of the present Madhya Pradesh Vidhan Sabha scheduled to end? /
AU HAUSR YU FT FSTA $9 THIW g1 =19 82

1. January 2019 / Sa_1 2019

2. September 2018 / ffdex 2018

3. March 2019 / ATd 2019



4. November 2018 / Fde} 2018

Correct Answer :-

« January 2019 / ST 2019

9) 20 MLAs of ‘Aam Aaadmi Party’ were disqualified on January 2018 for which of the following grounds? /

'ITH TEH UTel & 20 faumaet ot FafafEd snuR & Ted Sast 2018 BT s Nt fear mar ur2
1. Criminal proceedings in court / 3{cIcld T SR ATt § wrfaret

2. Holding office of profit / ¢TH FHHFATT UG FHIAT

3. Disproportionate assets to income / 3{TJ Y 3ff® Tuf

4. Wrong information given in affidavit / TGYUF ERINGACIECARKE|

Correct Answer :-

« Holding office of profit / <TH HHMATAT UG FHTTT

10) What is the motto of Madhya Pradesh Tourism Development Corporation? /
AU Yt [T A &1 g a1y (3mest are) T 82

1. God’s Own Country / HITdT &l 3T &R (‘ﬁ@ﬁ 3= Eb_@)

2. Every Thing’s Possible / BX EISERIG] % (Q_Qﬁ g tlv'l?ﬁaﬁ)

3. The Heart of Incredible India / e HRd T gad (& BT 3T b ISTA S

4. The Land with Rich Forest Cover / H¥Hex d- 3{TARUT Yo ﬁﬂﬁ (< ds fag fra R PA)

Correct Answer :-

« The Heart of Incredible India / AJcd HRd Pl gad (—C"'E'l_cf 3 APhfSad gfean

11) Paras Chandra Jain is the Minister of under Government of Madhya Pradesh. /
A Y M & q6d URH 9% o LEIR]

1. Science & Technology / fagm @W

2. Panchayati Raj / EIBGIRS|

3. Energy / ol

4. Animal Husbandry / UR[UTT

Correct Answer :-

« Energy / Vi

12) Where in Madhya Pradesh is the ‘Makhanlal Chaturvedi Rashtriya Patrakarita Evam Sanchar Vishwavidyalay’ located? /
AAYS § ARG agad! AP UASTRAT Td HaR fayfaeneay ' #f fRua g2

1. Jabalpur / SISCTYR

2. Gwalior / TTICRR

3. Indore / 33 N
4. Bhopal / U

Correct Answer :-



 Bhopal / T

13) In which of the following cities of Madhya Pradesh is the Security Paper Mill located at? /
Aeye & frafifaa d 4 o9 @ 2er A Rreaifd T fra R 82

1. Gwalior / TR

2. Bhopal / T

3. Dewas / GaTy

4. Hoshangabad / HEEICIE

Correct Answer :-

. Hoshangabad/é TSI

14) ‘Meri Ikyavan Kavitayen’ is the work of which of the following writers hailing from Madhya Pradesh? /
B gFTA Hfaar e wew | Yafta Fafafaa d A fru dus st pfag?

1. Atal Bihari Vajpayee / 3l [ERREISER]

2. Nida Fazli / a1 wrora!

3. Makhanlal Chaturvedi / ARSI Tddet

4. Bhagwan Datt Sharma / HYTdT G grf

Correct Answer :-

« Atal Bihari Vajpayee / 3cdl [ERREISER]

15) 'Tower of Silence' is associated with which of the following religions in India? /
YR # fFfafed o @ fora o & a1y erer ofe wgdw Hafta 2

1. Parsi / URE

2. Islam / SXITH

3. Buddhism / S1&

4. Jainism / I

Correct Answer :-

« Parsi /UG

16) Which of the following was India’s first indigenously made color movie? /
YA YR Wexht #iF feew Fafrf@a s s e

1. Raja Harishchandra / XTSI Y

2. Mughal-E-Azam / HTI-U-3TTH

3. Alam Ara / HTSTH 3HRT

4, Kisan Kanya / {6 &1

Correct Answer :-

« Kisan Kanya / fo= =1



17) Dr. M. Balmuralikrishna was a renowned artist of .
ST. . SR T & TP URIs FATOR A

1. Tabla / d&cl

2. Hindustani vocal / %'—g'ﬁ'lzﬁ g+

3. Carnatic vocal / FI1cd A

4. Flute / IRER

Correct Answer :-

o Carnatic vocal /W M4

Topic:- General Hindi

1) e & g g Wi e o gfm
1. A+

2. Tg+3{Th

3. T3P

4, Tg+3{D

Correct Answer :-
. 3D
2) RS T aE gIAs A e I A AsA AT e
1. Sffge
2. 3gIdrg
3. sfgd
4. A

Correct Answer :-

3) A FIYE U AT A AP
1. TTd1ed
2. 7198
3. aTe
4. TMa&

Correct Answer :-

o A&

4) T T FT I YeTak &1 A g fipa A3 Haare?
1. WA S AT

2. A WA HH

3. HH WA HMH TG

4. 918 BTy | WA



Correct Answer :-

. WA FH

5) 3@ & fore gt watgard arat 2<gi @1 ufda &t gl
1. g, 3ifi, @
2. o, i, 9
3. T, 3ifEw, 9
4. 3o, Sifea, 99

Correct Answer :-

. gy, 3fhg, 9

6) femsm & fRrg v d@fy fide =1 gfa

1. fUfama

2. T+

3. fos-amm

4. fOq+amm

Correct Answer :-

« faqrem

7) “T=Ar & fog A vatgard ara wreql 1 ufda w1 gfg
1. F=IeR, gerar, g

2. =T, gutaR, 35

3. F=Ime, gutas, 3g

4. I, gUTahR, g

Correct Answer :-

- PR, gumer, 5g

8) ‘Wl 3T 1 eI YgTax &1 3 g Rreai A A da A g2
1. ORT Y 38T 9 AT

2. T 3R 33T @

3. et T W =T AT

4, 33T

Correct Answer :-

o SR 3BT T W

9) BIH T A fHe GH THA gH ard| - § Fr # § 919 91 Sreipr 22
1. IUHT PR

2. TSl SABR

3. FhIfeRT PR

4. 39T 3APR

Correct Answer :-



10) Rig it F==1 A AR Aa F

THH At o A fRfe @ s A

STt onaft ok 3 Wiet ®e @t /11 - F frg & A B 11 SrddR 32
1. SUHT 3[SPR

2. TTR(ad SAHR

3. I HABR

4, IT SAPR

Correct Answer :-
o JUHT 3TDPR

11) HH SUI & ST g FA A A P ATR?

1. g™

2. g

3.9

4. gwiq

Correct Answer :-

12) ¥ Ut @ T v P A AP AT 2
1. darfes

2.9R

3. R

4. fagm

Correct Answer :-

13) ‘SRR’ B 19 & A B A1 981 faa g 32
18R

2.9R

3. foR

4. R

Correct Answer :-

14) qYYY’ BT TS AR faus Fad I e
1. Uy Yy
2. TYHYY
3. TR YY
4. QY BT YT



Correct Answer :-

. TYIYY

15) R AP Id FRA @ I FdIFTAR
1. 3l

2. 3BT

3. 3B

4. 3fer

Correct Answer :-

o SH&H

16) Fd¥ BT g A A B 71 wE A9 v &2
1. 3R
2. ARR
3. W

4. 3{qW

Correct Answer :-

17) 94 foar e wf fean, wa vwa wfere yarg |

A A U1 U9, ST A QY WRaTg | - A A I s I 3?2
1A% ™

2. HgHI™

3. QA"

4, Ufqd 39

Correct Answer :-

. XA

Topic:- General English

1) Select the suitable conjunction to complete the sentence:
I shall be happy _ my brother goes with me.

1. when

2. before

3. since

4. after

Correct Answer :-

e when

2) Choose the most suitable prefix for the given sentence:



The coral reef of the Great Barrier Reef is __comparable.
1. dis-

2. un-

3. in-

4. ir-

Correct Answer :-

3) Choose the most suitable determiner for the given sentence:

There is of milk in the refrigerator; everyone can have a glass.
1. either

2. some

3. every

4. plenty

Correct Answer :-

o plenty

4) Choose the correct form of tense for the given sentence:

They a lot of time brainstorming on the problem and have not yet reached a conclusion.
1. was spending

2. has been spending

3. spends

4, have spent

Correct Answer :-

« have spent

5) Choose the correct form of modal auxiliary verb for the given sentence:
Yesterday, while rushing to catch the bus, I lost my umbrella. I have left it at the bus stop.
1. must

2. should

3. shall

4. would

Correct Answer :-

e must

6) Choose appropriate articles for the given sentence:

Cars from ____ early days were different from ____ ones we see today.

1. the, the



2. the, an

3. a, the

4. an, the

Correct Answer :-
« the, the

7) Spot the error in the given sentence:
A crowd of people has gathered to watching the cricket match.

1. Gathered to watching
2. A crowd of

3. The cricket match

4. People has

Correct Answer :-

 Gathered to watching

8) Fill in the blanks with the present perfect tense of the verb from the given options:
They their rooms, so they are punished.

1. have not clean
2. have not cleaned
3. has not clean

4. has not cleaned

Correct Answer :-
« have not cleaned

9) Give the noun form of the underlined word in the given sentence:

The woman took objectionable to the abusive language used by the auto driver.
1. objectional

2. objectionness

3. objective

4. objection

Correct Answer :-

« objection

10) Choose the appropriate preposition for the given sentence.
River Thames flows___ the London Bridge.

1. beside

2. off

3. under

4. on



Correct Answer :-
o under

11) Choose the appropriate form of the verb to complete the given sentence.
If he ___ there, he must have heard the talk.

1.1s

2. have been

3. was

4. were

Correct Answer :-

12) Choose the appropriate preposition to complete the given sentence.

When will they arrive the airport?

1. at
2.in
3. to

4. on

Correct Answer :-

13) Choose the appropriate articles to complete the given sentence.

The doctor says that mine is ____ hopeless case. He says that I should live in ____ open air.
1. the, a

2.a,a

3. a, the

4. an, an

Correct Answer :-

« a,the

14) Choose the option with the appropriate punctuation inserted in the given sentence.
The wind being favorable they sailed

1. The wind, being favorable they sailed.

2. The wind, being favorable, they sailed

3. The wind being favorable, they sailed

4. The wind being favorable, they sailed.

Correct Answer :-

» The wind being favorable, they sailed.



15) Choose the option with the appropriate punctuation inserted in the given sentence.
Will your brother come to pick us up from the station

1. will your Brother come to pick us up from the Station!

2. Will your brother; come to pick us up from the station?

3. Will your brother come to pick us up from the station?

4. Will your brother: come to pick us up from the station?

Correct Answer :-
« Will your brother come to pick us up from the station?

16) Choose the option that best transforms the given sentence using a question tag:
He hasn't returned from his trip,

1. have he?

2.isn’t he?

3. has he?

4. hasn’t he?

Correct Answer :-

e has he?

17) Choose the correct form of verbs that is in agreement with the subject:

Iamsureyoucan___ theproblemtoherand ____ the solution.
1. has explain found

2. explained, finding

3. explaining, finds

4. explain, find

Correct Answer :-
« explain, find

Topic:- General Maths

1) Each side of a regular polygon is 12.5 cm in length. The perimeter of the polygon is 87.5cm. How many sides does the
polygon have? /

wggagaﬁ@gmuﬁmﬁm B TS YOIl B aTS 12.5 A1, 81 TgYS B TR 87.5 I, &1 95y A fpasit
Yol B?

1.5
2. 11
3.7

4.9

Correct Answer :-



Deepak purchases 60 kg and 85 kg bags of cement. The maximum value of weight which can measure the weight of the
cement exact number of times is: /

3us, Wi F 60 fparm 3R 85 e & a1 Tiiear 81 ao+ &1 sifiean ur o) Wie & aoa St gurd Fud
P IR HIY IHdT &

1. 5kg /5 fpaum®

2. 12 kg / 12 fpamm
3.20 kg / 20 @M
4.17 kg / 17 famm

Correct Answer :-

. 5kg/5fHarm

3) The sum of three consecutive numbers is 66. Find the least of the three numbers. /
T iire T3 BT AT 66 1 37 I T3 F T BT TS 1 B

1.23

2.25

3.21

4.29

Correct Answer :-

4) Harpreet's suitcase is locked and has a four-digit password starting from 574P. Harpreet randomly remembers that the
number is divisible by 3. How many trials he needs to do to get the correct password? /

U BT Yeby @l 8 741 ¢ 3R IHH TR-3® T UaS 2 &) 574P A T ST 21 g 3 defde FUAAE &
o a8 T 3 @ fauTsa 81 T8 Tras U A & fore 39 foraq wdterur 37 &Y sravawar 82

1. One / Uh
2. Two /Eﬁ
3. Four /@R

4. Three / dF

Correct Answer :-

« Three /<

5) Which of the following is a rational number? /
Frafafea # 4 o= 4t vo g den 32

1. 3433

, 24373

3. 54373

4, 443'/3

Correct Answer :-

. 343"



6) Numerator of a fraction is 5 more than 5 times its denominator. When 5 is subtracted from the numerator of the fraction
and added to its denominator, the fraction becomes equal to 4. Find the original fraction. /

TS T 7 3i=1, ITH X & 5 TATA 5 3P 81 979 FUa & 3421 A 5 geran orar 8 3R 3uF g A ol fRarwmar g, @
e &1 91 4 & RIR 81 9141 8 | IRAfae 3 g1 B

— = e
=lo l-’“’|o ‘L‘|u’u
W

[ ]
=t

»
= |

Correct Answer :-

7)
Uday studies 6 i hours daily. He spends 1 3 hours of his time for Hindi and 1 ; for English. How
much time does he spend for mathematics if he spends rest of the time equally on mathematics

and science? /

mﬁ%ﬁiﬁmwm%mg@é%%ﬁaw%é%aﬁsﬁ%mw
H g9 Har g1 I 98 AN AT & e J6T AT U9 9T H g9 #ar g, ar
g8 T H fohaeT ¥AT 9T AT 87

L hows [ 3 @&

1. 73 3

hours / 2 g2

2'3 3

12hows /12 g

3_3 3

2 hours /2 G
4, 3 .

Correct Answer :-

1lhows / 12 g&
3 3

8) A rectangular park is 13% m long and 10% m wide. Find its perimeter. [
TF HOIFR UTh 13%%@3%10&%#@% sadr aitfer A #:1
1.47.1m/47.1 9]
2.48.2 m/48.2 Wi}
3.47.4m/474 W

4.46.9m/46.9 HicR



Correct Answer :-

« 47.1m/47.1 B}

9) Riva chooses a number, subtracts % from it and multiplies the number by 12.The result now
obtained is %times the original number. Find the number. /
R v weEr gedt 8,36 @ 2 merd § 3R @ dE 1 12 F aem A= g1 e
vred GROTA, He 6T 7 > A 81 HEdT A

Correct Answer :-

e 1.2

10) The value of (v11-V2)?is: /
(114272 &7 # £

11) What is the value of 'k’ if f{x) = x® + 3x? —kx + 4 is divided by x — 2, and the remainder is 147 /
K @ AT FT §, AR fx)=x3+3x —kx+4 T x—2 @R faenfaa frar @mar § 3k
THE 14 {rAT 87

1.5

2.6

3.7

4.4

Correct Answer :-

1
12) Which of the following cubic polynomials ha\'eg:— - and 2 as its zeroes? /

3 1

forafaf@a & ¥ @la & geir agual & o —.— 232
1 253 -x+4x 3
5 33 +6x?-Tx+2

3. 2% -11=2+2x 3



4 4z} - 12x2+ 5% +6

Correct Answer :-
423 - 12x2+5x+ 6

5 4
13) Find the solution of = + St x.d

_|_

w8

5 4 =
E_E+ X ol §el Ad &Y

1. 1.45833

14) A quadratic polvnomial with sum of zeroes —% and product of zeroes % can be: /
: 1 : 1
U Efaurdig ague s ol & At 2 AR I S uEhd 8,96 8 §ad b
1L x*+2x +2

5 1 1
x‘—l—;x +:

2.
3, 1
2x*+-x +2
3. =
xP—Ix 42
. 2" T2

15) The difference between the interior angle and the exterior angle of a regular polygon is 60°. The

polygenisa ./
U GH FgHe (TR Fieiela) & AR HI0T 3R ST FoT F d F 37 60°71
g TR B

1. Octagon / 3{SCHS

2. Hexagon / ¥4l

3. Septagon / H&IYSl

4. Pentagon / UaHul

Correct Answer :-

« Hexagon / YgYul



16) 2" =2048:n=7
1.12
2.11
3.10

4. 13

Correct Answer :-

2 5 : 5
17) A number is multiplied by i and % is added toit. If theresult so obtained is %subtra.cted from i

- 2

times the original number, then find the number. /

wa’wﬁ% ﬁw%m%ﬁ?mﬁgﬁaﬁmélaﬁmsﬂ

Wwiﬂméﬁ;ﬂﬁﬁwéﬁ%ﬂﬁﬁ gﬁwm.a’rﬁwmﬁl

66
1. 17

4.

Correct Answer :-

66
. 17

Topic:- General Aptitude

1) In a certain code ‘GIVEN? is written as ‘JHVOF’. How is’ SHARK’ written in that code? /

T fAf%a Fe § ‘GIVEN’ &1 ‘JJHVOF’ % ®9 # for@T Srar &1 S9 &€ # ‘SHARK® & v woe fora r?
1. TUSPQ

2. OPSUI

3. ITALS

4. QRFML

Correct Answer :-

« ITALS

2) An uneducated retailer marks all his goods at 75% above the cost price and thinking that he will still make 25% profit,
offers a discount of 25% on the market price. What is his actual profit on the sales? /

TS Sffera Bed fashar s it [T @) anTa gea | 75% Sifte fafga war 8 ik ag Taar 8 fF 259 $t
@e B Wi 98 25% BT ATY TR B A1 AfB+1 39 g B faspt R 3@ arafds ary fosam ghme



1.31.35%
2.31.36%
3.31.52%
4.31.25%

Correct Answer :-

* 31.25%

3) A vessel of 64 litres is filled with milk and water. 70% of milk and 30% of water is taken out of the vessel. It is found that
the vessel is vacated by 55%. Find the initial quantity of milk (m) and water (w) in litres? /

64 THeX & TP g1 B gY 3R T A WRT T 70% G 3R 30% U Y a1 | q1e= FrawTen wan| a5 uran wan %
eI B 55% TP Tl B 1301 T g (m) 3R I (w) B yRFUS A1 diex & gra sifong?

1. m=28,w=23

2. m=40,w=24

3. m=35,w=20

4. m=26,w=21

Correct Answer :-

o m=40,w=24

4) The difference of two numbers is 1460. If 2.7% of one number is 4.5% of the other number, then find the two numbers? /
3 T3 BT 3R 1460 71 TS TH WG B 2.7%, 30 WS HT4.5% ©, A QI HSITE T BIIG?
1. 2180, 3640

2. 2170, 3630

3.2175, 3635

4. 2190, 3650

Correct Answer :-
e 2190, 3650

5) The average salary of the entire staff in an office is Rs. 130 per month. The average salary of officers is Rs. 450 and that
of non-officers is Rs. 120. If the number of officers is 15, then find the number of non-officers in the office? /

TP Fratay § Wt wHaal B1 3id A 130 % Ufd A1 81 fIPTRE) &7 3iud aa+ 450 T € 3R AR-3rfrprival
B1120 T. g1 afe 1Rl Y T8 15 8, 9 Pratay § AR-3rRe1iyal 1 w= Jid Sifere?

1. 450
2.460
3.470
4,480

Correct Answer :-
* 480
6) If ‘ATTENDED’ is coded as ‘DEDNETTA’, then how will you code ‘ADVOCACY’? /

IfT ‘ATTENDED’ & ‘DEDNETTA’ § FI{ed fFaT SITAT § a7 3T CADVOCACY’ FT fhg T&1E FIfed H3r?



1. YCAOCADA
2. YCAVACDO
3. CADOYACV
4, YCACOVDA

Correct Answer :-

« YCACOVDA

7) If the first digit in each number is reduced by 1 and its position is interchange with position of the second digit, then
which of the following numbers will be the largest?

259, 824, 635, 418,347  /

IR Y TN A YT 3w, 1 A U BT a7 o R ITH) FRURY 2¥ s 98t FRUFY ¥ A1y 3Ty A waw & o, &t
frafafaa & @ o4 I Jen g9 9t gril?

259, 824, 635, 418, 347
1. 824
2. 635
3.418
4,259

Correct Answer :-

e 259

8) Gopal’s salary was decreased by 50% and subsequently increased by 40%. How much percent does he lose? /
TIHUTE BT AT 50% TP TeT f&aT TaT SR 918 | 40% a% Pt Jis B &t Tt | I fran ufa=ra &1 JHaH gan?
1. 25%

2. 40%

3.35%

4.30%

Correct Answer :-

- 30%

9) A runner takes as much time in running 18 meters as the bike takes in covering 25 meters. Find the distance covered by
the runner during the time the bike covers 1 km. /

TS U9 18 Wiex Tat & Ia-11 0y AT 8 a1 9159 a1 25 Hex au e A avrar 81 959 gr 1 feft gt o
B P IR UTaP GRT T D1 1S g3t FId BIfoQ|

1. 720 meters / 720 HIeI
2. 760 meters / 760 HICX
3. 740 meters / 740 HIeX
4. 700 meters / 700 HIeX

Correct Answer :-

« 720 meters / 720 HIeX



10) Mohit bought a horse and a carriage for Rs. 4000. He sold the horse at a gain of 20% and the carriage at a loss of 10%,
thereby gaining 2% on the whole. Find the cost of the horse? /

Hifgd 3 TP TST 3R TH MST 4000 TUA A @IS | IHA TIST 20% P ATH W 3R TS BT 10% 1 811 0= 99 feam,
o T fAaTdHR 3 2% BT ATH §3MTI TS B! HAA FTd DIFT?

1. Rs. 1000 / 1000 3T
2. Rs. 1400 / 1400 3T
3. Rs. 1200 / 1200 TG
4.Rs. 1600 / 1600 ¥

Correct Answer :-

« Rs. 1600 / 1600 343

11) In how many different ways can the letters of the word ‘CRAZY’ be arranged? /
fora Tl & 9158 ‘CRAZY’ F & H1 sqATeq FohAT ST ThaT 52

1. 260

2. 160

3.225

4. 120

Correct Answer :-
« 120

12) The average age of a mother and her two twin daughters born on the same day is 20 years. The ratio of the ages of mother
and one of her daughter is 6:2 respectively. What is the mother’s age? /

T i 3R T & 37 U1 52 S 3) qeai Ifed} ) oirwd oy 20 Wl 1 Hi 3R IWF TH A8 Y 3y FT 3qUTG
THT: 6:2 B 1 | B AT FATF?

1. 20 years/205|'5f
2.18 years/lSTﬂf
3.36 years/363'5f
4. 24 years/245|'5f

Correct Answer :-

« 36vyears/36 GL

13) The average of first 51 natural numbersis___./

TR 51 ITHfaH Geamsi frefeaa &
1.28
2.26
3.30
4.24

Correct Answer :-

. 26



14) Reshma is 40 years old and Monisha is 60 years old. How many years ago was the ratio of their ages 3:5 respectively? /
=T 40 T BT 7 R AR 60 T F1 7 | fraq af g ITHT 3Tg BT STUT HHT: 3:5 UT?

1. 15 years / 15 ay

2. 18 years /18 G

3. 24 years/ 24 ay

4,10 years / 10 ay

Correct Answer :-

e 10vyears/ 10 9%

15) Two cards are drawn together from a pack of 52 cards. The probability that one is a spade and one is heart is: /

52 A= 9Tl T TS A 1 7R TP 1Y e | T g3 o T fRa 911 3t wiRrean e @

Correct Answer :-

13
102

Topic:- General Computer

1) To install a new printer, the option on control panel is used. /

& 747 file? $%eia w31 & g, Faa Ha w® ST T IugNT fopar Srar 1
1. Install New Printer / W\I’a Q{fﬁﬁ

2. Install / sw‘r'a

3. Add Software /Q@;ﬂyl'qea'q?

4. Add New Printer / TS qftm

Correct Answer :-

« Add New Printer / TS UeY

2) In MS Excel 2010, which of the following tabs can be used to delete rows and columns? /

THTH TR 2010 H, 3 3R HraAl ) feiie $1 F fore Fufefaa & Q@ $19 3 29 &1 3uaT fHar o godr 82
1. Insert tab / 3¢ <&

2. Home tab / B &

3. Design tab / [&SIIg ¢



4. Layout tab / IR

Correct Answer :-

« Home tab / E?II[%H

3) In MS Excel 2010, which of the following options will allow you to highlight the top or bottom numbers or percent in the
selected cells? /

THEY THAd 2010 H, FAufefaa & @ <19 a1 faeer smue! gaf~a Il & efa a1 sicw 31 Gamsi ar ufawea &1
FISAISE B B gl 32

1. Data Bars / ScT /9
2. Color Scales / R Thed

3. Top/Bottom Rules / TU/dlcH e

4. Highlight Cells Rules / BIRIRC Hol

Correct Answer :-

« Top/Bottom Rules / cl/Eicd o

4) In MS Excel 2010, minimize button is located at the i
THTH TR 2010 H, AR 99 R fRE ATl
1. lower right-hand corner / W= ET%:ﬁ CaE| (?ﬁGR' TIE_C'-%%' m

2. lower left-hand corner / el ELY CAE] (F‘IBIG'IT W-%_S’ a’TVI:h)

3. upper right-hand corner / SO alfet B (3R TI%T‘.'%E’ ﬁ'&)

4. upper left-hand corner / HURI T B (TR ATE-8S BIR)

Correct Answer :-

o upper right-hand corner / SO eIt e (3R 33-%'_6'39—\@')

5) In MS Excel 2007, a reference that refers to the same cell or cell range on multiple sheets is called a i

THTY TR 2007 H, TP RE¥d S Aediud e IR U A 91 Jd 39 B RGBT H3a1 8 39 FEIATAT g
1. Multi Dimensional reference / dg STt g (’q@ EIRENE] ﬁqﬁm

2. 2-D reference / 2-D Rtd

3. 1-D reference / 1-D Rtd

4. 3-D reference / 3-D RW<H

Correct Answer :-

« 3-D reference / 3-D R

6) In MS Excel 2007, what is AutoFilter? /

THTH TR 2007 H, 3iciTbees o1 82

1. It filters out the uncorrected words / g g 321&'-1 P flheey Har %I

2. It filters out the rows from a data table / Jg Udh 321 T U A &l fheex Har % [

3. None of the above / B'Q'{:IEH =k ﬁé Bl



4, Tt filters out only numerical values / Ig HId GRHTHP A DI flhee Hdl %I

Correct Answer :-

« It filters out the rows from a data table / g Uh 321 T U A Bl fheex Har % [

7) In MS Excel 2007, which button will allow you to view or hide the comment associated with the currently selected cell? /
THTY TR 2007 §, HI GT g1 TSR] FdATH § Tafd Ad & Yaftra sHe &1 o7 a1 8158 B3 o1 srgufa m?

1. Show/Hide button / Ezﬁ/as‘s’ dcq

2. Find button / TS S e

3. View/Hide button / /BIgS dcd

4. View button / & dc

Correct Answer :-

« Show/Hide button / TN/ETSS T

8) In MS Excel 2010, a task pane is similar to a .
TH TRA 200 W, TH RS U FIUE IR
1. Text box / THC SiT

2. Virtual box / T3/ iy

3. Dialog box / SAN dia

4, Shapes /R

Correct Answer :-

« Dialog box /'S AN iad

9) In MS Excel 2010, the shortcut key used to apply the time format with the hour and minute, and AM or PM is: /
THTH TR 2010 H, TMddpe o1 &l U 3R e, Td AM a1 PM & 1Y FHY BIHAC o & 7T YR 31 91l 8:
1. Ctrl+Shift+#

2. Ctrl+Shift+T

3. Ctrl+Shift+()

4, Ctrl+Shift+@

Correct Answer :-

. Ctrl+Shift+@

10) In MS Word 2007, by default the file will be saved in extension. /

THEY 98 2007 ¥, fEWiee U | WIsd T ¥ § A9 ) wrefi|

1. .docx
2. .pdf
3. .xml

4. xtml

Correct Answer :-



11) In MS Word 2010, the redline that occurs while typing under any word indicates: /
THTY a8 2010 ¥, foreft oft 2reg & 2 25U FHa IHg 3 arel AreRET R Fdl 8:
1. It is an important word / I8 U HE@YU| Ueq g

2. Used more than one time / Uh T 3fId IR m fosam man %

3. Spacing is more / fo 3P %

4. Misspelled word / TATd -1l XTeq

Correct Answer :-
« Misspelled word / ITAd CREIRIE

12) In MS Word 2010, which of the following shortcut keys is used for font ribbon? /

THTH T8 2010 ®, Wi Raa & forg Feafafea o @ fow Aidee ot o1 sxaama faan s g2
1. Cul+V

2. Ctrl+F

3. Ctr+D

4, Ctrl+S

Correct Answer :-

o Ctrl+D

13) In MS Word 2010, a small character can be created above any character is called .

THTH TS 2010 H, fHH HYaeX & SW TS BIC PR B 1T o1 GHT g, HgAaIgl
1. Topscript / CIU&HY
2. Subscript / qafepy

3. Superscript / JURIEHY
4, Topcharacter / [A RGN

Correct Answer :-

« Superscript / W

14) What is the purpose of a section break in MS Word 2007? /
THTH T8 2007 W YR 9P BT ST HT 82

1. Section breaks let you divide your document into sections, but doesn’t allow you to apply different headers and footers and

formatting per section. /

I TP AT 3T STRIHE BT ST H fauiorg 37 T €, AfehT 3muas! fafie 8% a1 Bex 3R ufa Jawe
BRAT A Bt 3rgHfd T 3 B

2. Section breaks let you divide your document into sections, allowing you to apply different headers and footers and formatting per
section. /

IR S YD 30 STagHC BT U H fFaHTord 3 SaT 8, o 3110 S{eRT- ST g8% a1 Hex IR Ufd Ja-e
HRATAT A HR Thd & |

3. Section breaks let you multiply your document into sections. /



YRR b 3T 30U SIagHC DI SFUNT H 0N DHRH T 5|
4. Section breaks let you separate text around objects on web pages. /

Y 5P 3ATUHT ITUSI TR 3HTsolae] b SY-UTH &b CRE DI 3T B3 H Aee HId

Correct Answer :-

» Section breaks let you divide your document into sections, allowing you to apply different headers and footers and formatting per
section. /

TR P AU 3T SIRIHE DI SFHIT B fUIRTd 3 3T B, FT 3110 31eT-31aTT g8% a1 HeR SR Ui Ja=re
HRATT AN AR Tbd o

15) The CPU and memory are located on the ./
g ik A R RA A S

1. Expansion board / TRIUTH a1

2. Storage device / TR %HTW

3. Output device / 3{T3cYc %?ﬂ%?f

4. Mother board / TG S8

Correct Answer :-

« Mother board / AcR Sls

16) Which key is used to delete a character to its right side of the cursor in MS Word 2010? /

TATH T8 2010 H FIR & IR TRE TP g ®1 g & AT {5 Foit w1 Iuai fowar wmar 32
1. End button / TS §c

2. Backspace button / IHWY T

3. Delete button / f&efie se

4. Esc button / Esc dc

Correct Answer :-

« Delete button / fSdile sed

17) Which one of the following statements about software is CORRECT? /
iredmR & IR A Frafifed & & &1 w1 w3 ad @2

1. It cannot be manipulated. / T BIWR To! [T off bl % I

2. It cannot be touched. / 3@ BN 7‘|§[\_S|T g dl %l

3. It cannot be changed. /sﬁ dadl q_sﬁﬁﬂ Hhdl %I
4. It does not have instructions or programs. / OH ¢ a1 9 81 8 gl

Correct Answer :-

« Tt cannot be touched. / 38 ENI BEEIEESIE



